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Chapter 11.05 
Informal Development of Fast Fourier Transform 
(FFT) 
 
 
 
 
Introduction 
Recalled the DFT pairs of Equations (22) and (23) (of Chapter 11.04) and swapping the 
indices kn, one obtains: 
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where 1,...3,2,1,0, −= Nkn           (3) 
While the above DFT pairs of equations are convenient for computer implementation, they 
still require substantial computation effort. The objective of this chapter, therefore, is to 
develop the improved version of DFT (namely Fast Fourier Transform, or FFT) so that much 
larger sampling data can be handled more efficiently. 
Let  
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Then Equation (1) and Equation (2) become 
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It should be emphasized here that in performing interpolation, one usually has to solve a 
system of equations to determine the unknown coefficients of the linear combination of basis 
functions that fit the given data. For example, if 4=N , then one need to solve the following 
system (see the second part of Equation (5)), for obtaining{ }C~ , with a given vector { }f . 
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However, the inverse of the above coefficient matrix can be easily obtained as 
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Thus, the unknown vector { }C~  can be computed as matrix times vector operations, as 
following: 
Assuming ,24 )2( === rN  then (see the first part of Equation (5)) 
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For 4=N , 2=n  and 3=k , then 
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In the above equation, one should recall the following Euler identity 
)4()4(4 πππ iSinCose i −=−  

         1=  
Thus, in general (for )Nnk ≥  

Unk EE =   
where  
 ),mod( NnkU =                      (8) 
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Remarks: 
Matrix times vector, shown in Equation (7), will require 16 (or )2N complex multiplications 
and 12 (or )1(* −NN ) complex additions. 
Usage of Equation (8) will help to reduce the number of operation counts, as explained in the 
next section. 
 
Factorized Matrix and Further Operation Count 
Equation (7) can be factorized as: 
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Remarks: 
The theory behind the 2 matrices on the right hand side (RHS) of Equation (9) will be clearly 
explained soon (see Equations 11 and 15, in chapter 11.06). 
The order of the left-hand-side (LHS) vector has been changed, such as rows 2 and 3 have 
been swapped. 
Let the row-interchanged LHS vector be defined as 
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Now performing the inner-product (matrix times vector) on the RHS of Equation (9), one 
obtains 
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or 
)2()0()0( 0

1 fEff +=                            (11a) 
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)3()1()1( 0
1 fEff +=                                           (11b) 

           )2()0()2( 0
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)3()1()3( 2
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         )3()1( 0 fEf −=                                        (11d) 
Equations (11a through 11d) for the “inner” matrix times vector requires 2 complex 
multiplications and 4 complex additions. 
In Equations (11a–11d), 0E  is intentionally not reduced to the numerical value of 1.0 to 
facilitate the discussions of more general cases. 
Finally, performing the “outer” product (matrix times vector) on the RHS of Equation (9), 
one obtains: 
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or 
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Again, Equations (14a-14d) requires 2 complex multiplications and 4 complex additions. 
Thus, the complete RHS of Equation (9) can be computed by only 4 complex multiplications 

(or )
2
24

2
=

rN and 8 complex additions (or 24×=Nr ). Since computational time is mainly 

controlled by the number of multiplications, hence implementing Equation (9) will 
significantly reduce the number of multiplication, as compared to direct matrix times vector 
operations (as shown in Equation (7)). 
 
For large value of data points ( N= ), the ratio of complex multiplications by using Equation 
(7) and Equation (9) can be computed as 
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For ,22048 )11( === rN  Equation (15) gives 

 36.372
11

)2048(2
==Ratio ,  

which basically implies that the number of complex multiplications involved in Equation (9) 
is about 372 times less than the one involved in Equation (7). 
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Graphical flow of Equation (9), for case 422 2 === rN  
Equation (9) can also be presented in the graphical form, as shown in Figure 1. 

 
Figure 1 Graphical form of FFT (Equation 9) for the case 422 2 === rN . 

 
Remarks: 

a) Computed vector 1 does correspond to Equations (11a–11d). 
b) Computed vector 2 does correspond to Equations (14a-14d).  
c) Since 2=r  in this example, one needs to compute 2 vectors { })(and)( 21 kfkf=  
d) Each node in the graph is computed from 2( r= ) nodes in the “previous” vector. 
e) Factor UE  (such as ),,, 3210 EEEE  appears near the arrow head of the transmission 

path. Absence of UE implies that 10 == EEU . 
For example: 1

112 )3()2()2( Efff += , which is the same as Equation (14c). 
 
Graphical Flow of Equation (9), for case 1622 4 === rN  
To see a more detailed computational patterns of FFT, a slightly larger data size 
( 1622 4 === rN ) is shown in the graphical form, as indicated in Figure 2. 
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Figure 2 Graphical form of FFT (Equation 9) for the case 1622 4 === rN . 
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Companion Node Observation 

Careful observation of Figure 2 reveals that for each computed thl -vector (where 
rl ......2,1= ; and 1622 4 === rN ), we can always find two (companion) nodes which came 

from the same pair of nodes in the previous vector. For example, )0(1f  and )8(1f  are 
computed in terms of )0(f  and )8(f . Similarly, the companion nodes )8(2f  and )12(2f  are 
computed from the same pair of nodes )8(1f  and )12(1f .  
Furthermore, the computation of companion nodes is independent of other nodes (within the 

thl -vector). Therefore, the computed )0(1f  and )8(1f will override the original space of  
)0(f  and )8(f . Similarly, the computed )8(2f  and )12(2f  will over ride the space occupied 

by )8(1f  and )12(1f , which in turn, will occupy the original space of )8(f  and )12(f . 
Hence, only one complex vector (or 2 real vectors) of length N  are needed for the entire 
FFT process. 
 
Companion Node Spacing 
Observing Figure 2, the following statements can be made: 

a) in the first vector )1( =l , the companion nodes )0(1f  and )8(1f  is separated by 8=k  

(or )8
2
16

2 1 ==l

N spaces. 

b) In the second vector )2( =l , the companion nodes )8(2f  and )12(2f  is separated by 

4=k  (or ).
4

16
2
16

2 2 ==l

N  

 
Companion Node Computation 

The operation counts in any companion nodes (of the ndthl 2=  vector), such as )8(2f  and 
)12(2f  can be explained as (see Figure 2): 

4
112 )12()8()8( Efff ×+=                              (16) 

12
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           [ ] 4
11 )12()8( Eeff iπ−+=  

           4
11 )12()8( Eff ×−=                   (17) 

Thus, the companion nodes )8(2f  and )12(2f  computation will require 1 complex 
multiplication and 2 complex additions (see Equations (16-17)). The weighting factors for 

the companion nodes [ )8(2f  and )12(2f ] are )(4 UEorE  and )( 212
NU

EorE
+

, respectively. 
Thus, in general 
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Skipping computation of certain nodes 

Because the pair of companion nodes “ k ” and "
2

" L

Nk +  are separated by the “distance”. 

( )
2L

N
= , hence, at the thL  level, after every L

N
2

 node computation, then the next L

N
2

 nodes 

will be skipped! (see Figure 2). 
 
Determination of UE  

The values of “U ” can de determined by the following steps: 
 
Step 1: Express the index k  ( 1,...,2,1,0 −= N ) in binary form, using r  bits. For 8=k , 2=L  
and 4=r ;  or 1622 4 === rN , one obtains 

8=k  
   0,0,0,1=  
   01231 2)0(2)0(2)0(2)1( +++= =−r  

Step2: Sliding this binary number “ 224 =−=− Lr ” positions to the right, and fill in zeros, 
the results are 

0,1,0,00,1,,0,0,0,1 →→ XX  
It is important to realize that the results of Step 2 (0,0,1,0) is equivalent to express an integer 

 Lr

kM −=
2

  

      242
8
−=  

      2=  
in the binary formats. In other words, )0,1,0,0(2 ==M . 
Step3: Reverse the order of the bits, then (0,0,1,0) becomes 0,1,0,0 E= .  Thus, 

0123 2)0(2)0(2)1(2)0( +++=U  
    4=  

It is “NOT” really necessary to perform Step 3, since the results of Step 2 can be used to 
compute “ E ” as following 

3210 2)0(2)1(2)0(2)0( +++=U  
    4=  

In conclusion, for 8 ;2 ;1622 4 ===== kLN r  and 4=U ; the computation of companion 
nodes from general formulas (see Equations (18) and (19)) gives 

)12()8()8( 1
4

12 fEff +=  
)12()8()12( 1

4
12 fEff −=  

The above 2 equations are identical to Equations (16) and (17). 
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Computer Implementation to Find Value of “U” (in )UE  

Based on the previous discussions (with the 3-step procedures), to find the value of “U ”, one 

only needs a procedure to express an integer Lr

kM −=
2

 in binary formats, with “ r ” bits. 

Assuming M  (a base 10 number) can be expressed as (assuming 4=r  bits) 
1234 aaaaM =                                 (20) 

     1J=  

Divide M  by 2 (say, )
2

1
2

JJ = , multiply the truncated result by 2 (say, ),222 ×= JJJ and 

compute the difference between the original number 1JM ==  and 2JJ . 









×





−=−= 2

221
Truncated

MMJJJIDIFF                            (21) 

If ,0=IDIFF  then the bit 01 =a  
If ,0≠IDIFF  then the bit 11 =a  
Once the bit 1a  has been determined, the value of 1J  is set to 2J  (or value of 1J  is reduced 
by a factor of 2), since the previous  

MJ =1  
     1234 aaaa=  

3
4

2
3

1
2

0
11 2)(2)(2)(2)( aaaaJ +++=   

and similar process can be used to determine the value of bit ,2a  etc. 
Example 1 

 For 8=k ; 4;216 === rN r bits and 2=L , Find the value of U . 

Lr

kM −=
2

 

     242
8
−=  

     2=  
     1J=  

Determine the bit 1a : (Index 1=I ) 
Initialize 0=U  

2
1

2
JJ =  

     
2
2

=  

     1=  
)2( 221 ×=−= JJJJIDIFF  

            )2)(1(2 −=  
 0=  

Thus  
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01 =a  
IDIFFUU +×= 2  

    020 +×=  
    0=   

or  
 IraUU −+= 2)( 1  
     32)0(0 +=  
     0=  
Determine the bit 2a  [Index 2=I ] 

21 JJ =  
     1=  

2
1

2
JJ =  

     
2
1

=  

     0=  
)2( 221 ×=−= JJJJIDIFF  

            )20(1 ×−=  
 1=  

Thus 12 =a  
IDIFFUU +×= 2  

    120 +×=  
    1=   

or  
 IraUU −+= 2)( 2  
     22)1(0 +=  
     4=  
Determine the bit 3a  [Index 3=I ] 

21 JJ =  
     0=  

2
1

2
JJ =  

        
2
0

=  

        0=  
)2( 221 ×=−= JJJJIDIFF  

            )20(0 ×−=  
 0=  

Thus 03 =a  
IDIFFUU +×= 2  

    021 +×=  
    2=   
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or  
 IraUU −+= 2)( 3  
     12)0(4 +=  
     4=  
Determine the bit 4a  [Index rI == 4 ] 

21 JJ =  
     0=  

2
1

2
JJ =  

     
2
0

=  

     0=  
)2( 221 ×=−= JJJJIDIFF  

            2)0(0 ×−=  
  0=  

Thus 04 =a  
IDIFFUU +×= 2   

    022 +×=  
    4=  

or  
 IraUU −+= 2)( 4  
     02)0(4 +=  
     4=  
 
Remarks: 
Although the “intermediate” results might be different, at the end of the do-loop process 
(computing 4a ), both formulas for “U ”, such as  

orIDIFFUU ;2+×=                              (22) 
;2)( Ir

IaUU −+=  where rU ,...,3,2,1=                 (23) 
will eventually give the same final answers for “U ”. 
 
Example 2 
For 12=k ; ;216 4=== rN  and .3=L  Compute the corresponding value of U ? 
One has 

 Lr

kM −=
2

 

       342
12
−=  

  21 JJ =   
      3=  
Determine the bit :1a  (Index 1=I ) 
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Initialize 0=U  

2
1

2
JJ =  

     
2
6

=  

     3=  
)2( 221 ×=−= JJJJIDIFF  

            )2)(3(6 −=  
 0=  

Thus  
01 =a  

IDIFFUU +×= 2   
    020 +×=  
    0=  

or  
 1

1 2)( −+= raUU  
     32)0(0 +=  
     0=  
Determine the bit 2a  [Index 2=I ] 

21 JJ =  
     3=  

2
1

2
JJ =  

       
2
3

=  

       1=  
)2( 221 ×=−= JJJJIDIFF  

    2)1(3 ×−=  
 1=  

Thus 12 =a  
IDIFFUU +×= 2   

    120 +×=  
    1=  

or  
 2

2 2)( −+= raUU  
     22)1(0 +=  
     4=  
Determine the bit 3a  [Index 3=I ] 

21 JJ =  
     1=  

2
1

2
JJ =  
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2
1

=  

     0=  
)2( 221 ×=−= JJJJIDIFF  

   2)0(1 ×−=  
 1=  

Thus 13 =a  
IDIFFUU +×= 2  

    121 +×=  
    3=  

or  
 3

3 2)( −+= raUU  
     12)1(4 +=  
     6=  
Determine the bit 4a  [Index 4=I ] 

21 JJ =  
     0=  

2
1

2
JJ =  

     
2
0

=  

     0=  
)2( 221 ×=−= JJJJIDIFF  

            2)0(0 ×−=  
 0=  

Thus 04 =a  
IDIFFUU +×= 2  

    023 +×=  
    6=   

or  
4

4 2)( −+= raUU  
    02)0(6 +=  
    6=  

Remarks: 
Although both formulas for “U ”, shown in Equations (22) and (23), will yield the same 
“final” value of “U ”. Implementation of Equation (22) will be more computationally 
efficient. 
 
Unscrambling the FFT 

For the case 4216 === rN  (see Figure 2), the final ‘bit-reversing’ operation for FFT is 
shown in Figure 3. 
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Figure 3 Final “bit-reversing” for FFT (with )1622 4 === rN . 
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Hence, )0(4f = )0(4f ; no swapping. 
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Endif
Tif

ifkf
kfT

ThenkGTiIf

=
=

=

)(
)()(

)(
)..(

4

44

4

 

Hence, )1(4f = )8(4f ; are swapped. 
 
For 4)0,0,1,0()0,1,0,0(2 ==⇒== ik  
Hence, )2(4f = )4(4f ; are swapped. 
 
For  12)0,0,1,1()1,1,0,0(3 ==⇒== ik  
Hence, )3(4f = )12(4f ; are swapped. 
 
For  2)0,1,0,0()0,0,1,0(4 ==⇒== ik  
In this case, since “ i ” is not greater than “ k ”. 
Hence, no swapping, since )2(4 =kf  and )4(4 =if ; had already been swapped earlier. 
. 
. 
. etc… 
 
Computer Implementation of FFT (for case rN 2= ). 

The pair of companion nodes computation are given by Equations (18, 19). To avoid 
“complex number” operations, Equation (18) can be computed based on “real number” 
operations, as following: 

{ } { })()()()( 11 kifkfkifkf I
L

R
L

I
L

R
L −− +=+  

                               { }






 +++×++ −− )

2
()

2
( 11

,,
L

I
LL

R
L

IURU NkifNkfiEE                       (24) 

In Equation (24), the superscripts R  and I  denote real and imaginary components, 
respectively. 
Multiplying the last 2 complex numbers, one obtains: 

{ } { })()()()( 11 kifkfkifkf I
L

R
L

I
L

R
L −− +=+  

                              






 +×−+×+ −− )

2
()

2
( 1

,
1

,
L

I
L

IU
L

R
L

RU NkfENkfE  

                              






 +×++×+ −− )

2
()

2
( 1

,
1

,
L

R
L

IU
L

I
L

RU NkfENkfEi                           (25) 

Equating the real (and then, imaginary) components on the Left-Hand-Side (LHS), and the 
Right-Hand-Side (RHS) of Equation (25), one obtains 
 

{ } { }






 +×−+×+= −−− )

2
()

2
()()( 1

,
1

,
1 L

I
L

IU
L

R
L

RUR
L

R
L

NkfENkfEkfkf            (26a) 
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{ } { }






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,
1 L

R
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NkfENkfEkfkf            (26b) 

Recall Equation (4) 

N
i

eE
π2

−
=  

Hence 
U

N
iU eE 








=

−
π2

                   (27) 

       N
Ui

e
π2

−
=  

       θie−=  
       )sin()cos( θθ i−=  

where 

N
Uπθ 2

=                                (28) 

   
N

U28.6
=  

Thus 
)cos(, θ=RUE                                         (29a) 
)sin(, θ−=IUE                             (29b) 

Substituting Equations (29a, 29b) into Equations (26a, 26b), one gets 

{ } { }






 +×++×+= −−− )

2
()sin()

2
()cos()()( 111 L

I
LL

R
L

R
L

R
L

NkfNkfkfkf θθ           (30a) 

{ } { }






 +×−+×+= −−− )

2
()sin()

2
()cos()()( 111 L

R
LL

I
L

I
L

I
L

NkfNkfkfkf θθ                       (30b) 

Similarly, the single (complex number) Equation (19) can be expressed as 2 equivalent (real 
number) equations, such as equations (30a, 30b). 
Listing of computer implementation of serial FFT algorithm is given at 
http://numericalmethods.eng.usf.edu/simulations/mtl/11fft/general_fft.m  
 
References 
[1] E.Oran Brigham, The Fast Fourier Transform, Prentice-Hall, Inc. (1974). 
 
[2] S.C. Chapra, and R.P. Canale, Numerical Methods for Engineers, 4th Edition, Mc-Graw 
Hill (2002). 
 
[3] W.H . Press, B.P. Flannery, S.A. Tenkolsky, and W.T. Vetterling, Numerical Recipies, 
Cambridge University Press (1989), Chapter 12. 
 
[4] M.T. Heath, Scientific Computing, Mc-Graw Hill (1997). 
 
[5] H. Joseph Weaver, Applications of Discrete and Continuous Fourier Analysis, John 
Wiley & Sons, Inc. (1983). 

http://numericalmethods.eng.usf.edu/simulations/mtl/11fft/general_fft.m


11.05.18                                                        Chapter 11.05
  
 
 

FAST FOURIER TRANSFORM  
Topic Informal Development of Fast Fourier Series 
Summary Textbook notes on the informal development of fast Fourier series 
Major General Engineering 
Authors Duc Nguyen 
Date February 9, 2012 
Web Site http://numericalmethods.eng.usf.edu 

 
 
 


	Chapter 11.05
	Informal Development of Fast Fourier Transform (FFT)
	Introduction
	Factorized Matrix and Further Operation Count
	Graphical flow of Equation (9), for case
	Graphical Flow of Equation (9), for case
	Companion Node Observation
	Companion Node Spacing
	Companion Node Computation
	Skipping computation of certain nodes
	Determination of
	Computer Implementation to Find Value of “U” (in
	Example 1
	Unscrambling the FFT
	Computer Implementation of FFT (for case ).
	References


<<

  /ASCII85EncodePages false

  /AllowTransparency false

  /AutoPositionEPSFiles true

  /AutoRotatePages /None

  /Binding /Left

  /CalGrayProfile (Dot Gain 20%)

  /CalRGBProfile (sRGB IEC61966-2.1)

  /CalCMYKProfile (GRACoL2006_Coated1v2)

  /sRGBProfile (sRGB IEC61966-2.1)

  /CannotEmbedFontPolicy /Warning

  /CompatibilityLevel 1.3

  /CompressObjects /Off

  /CompressPages true

  /ConvertImagesToIndexed true

  /PassThroughJPEGImages false

  /CreateJobTicket false

  /DefaultRenderingIntent /RelativeColorimetric

  /DetectBlends false

  /DetectCurves 0.0000

  /ColorConversionStrategy /LeaveColorUnchanged

  /DoThumbnails false

  /EmbedAllFonts true

  /EmbedOpenType false

  /ParseICCProfilesInComments true

  /EmbedJobOptions true

  /DSCReportingLevel 0

  /EmitDSCWarnings false

  /EndPage -1

  /ImageMemory 1048576

  /LockDistillerParams true

  /MaxSubsetPct 1

  /Optimize true

  /OPM 1

  /ParseDSCComments false

  /ParseDSCCommentsForDocInfo true

  /PreserveCopyPage false

  /PreserveDICMYKValues true

  /PreserveEPSInfo true

  /PreserveFlatness false

  /PreserveHalftoneInfo false

  /PreserveOPIComments true

  /PreserveOverprintSettings true

  /StartPage 1

  /SubsetFonts true

  /TransferFunctionInfo /Preserve

  /UCRandBGInfo /Remove

  /UsePrologue false

  /ColorSettingsFile ()

  /AlwaysEmbed [ true

  ]

  /NeverEmbed [ true

  ]

  /AntiAliasColorImages false

  /CropColorImages false

  /ColorImageMinResolution 300

  /ColorImageMinResolutionPolicy /OK

  /DownsampleColorImages true

  /ColorImageDownsampleType /Bicubic

  /ColorImageResolution 300

  /ColorImageDepth -1

  /ColorImageMinDownsampleDepth 1

  /ColorImageDownsampleThreshold 1.00000

  /EncodeColorImages true

  /ColorImageFilter /DCTEncode

  /AutoFilterColorImages true

  /ColorImageAutoFilterStrategy /JPEG

  /ColorACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /ColorImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000ColorACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000ColorImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasGrayImages false

  /CropGrayImages false

  /GrayImageMinResolution 300

  /GrayImageMinResolutionPolicy /OK

  /DownsampleGrayImages true

  /GrayImageDownsampleType /Bicubic

  /GrayImageResolution 300

  /GrayImageDepth -1

  /GrayImageMinDownsampleDepth 2

  /GrayImageDownsampleThreshold 1.00000

  /EncodeGrayImages true

  /GrayImageFilter /DCTEncode

  /AutoFilterGrayImages true

  /GrayImageAutoFilterStrategy /JPEG

  /GrayACSImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /GrayImageDict <<

    /QFactor 0.15

    /HSamples [1 1 1 1] /VSamples [1 1 1 1]

  >>

  /JPEG2000GrayACSImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /JPEG2000GrayImageDict <<

    /TileWidth 256

    /TileHeight 256

    /Quality 30

  >>

  /AntiAliasMonoImages false

  /CropMonoImages false

  /MonoImageMinResolution 1200

  /MonoImageMinResolutionPolicy /OK

  /DownsampleMonoImages true

  /MonoImageDownsampleType /Bicubic

  /MonoImageResolution 1200

  /MonoImageDepth -1

  /MonoImageDownsampleThreshold 1.00000

  /EncodeMonoImages true

  /MonoImageFilter /FlateEncode

  /MonoImageDict <<

    /K -1

  >>

  /AllowPSXObjects false

  /CheckCompliance [

    /None

  ]

  /PDFX1aCheck false

  /PDFX3Check false

  /PDFXCompliantPDFOnly false

  /PDFXNoTrimBoxError true

  /PDFXTrimBoxToMediaBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXSetBleedBoxToMediaBox true

  /PDFXBleedBoxToTrimBoxOffset [

    0.00000

    0.00000

    0.00000

    0.00000

  ]

  /PDFXOutputIntentProfile (GRACoL2006_Coated1v2)

  /PDFXOutputConditionIdentifier ()

  /PDFXOutputCondition ()

  /PDFXRegistryName ()

  /PDFXTrapped /False



  /CreateJDFFile false

  /Description <<

    /ENU ([Based on 'Lulu'] Use these settings to create Adobe PDF documents best suited for Lulu's printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 4.0 and later.)

  >>

  /Namespace [

    (Adobe)

    (Common)

    (1.0)

  ]

  /OtherNamespaces [

    <<

      /AsReaderSpreads false

      /CropImagesToFrames true

      /ErrorControl /WarnAndContinue

      /FlattenerIgnoreSpreadOverrides false

      /IncludeGuidesGrids false

      /IncludeNonPrinting false

      /IncludeSlug false

      /Namespace [

        (Adobe)

        (InDesign)

        (4.0)

      ]

      /OmitPlacedBitmaps false

      /OmitPlacedEPS false

      /OmitPlacedPDF false

      /SimulateOverprint /Legacy

    >>

    <<

      /AddBleedMarks false

      /AddColorBars false

      /AddCropMarks false

      /AddPageInfo false

      /AddRegMarks false

      /BleedOffset [

        0

        0

        0

        0

      ]

      /ConvertColors /NoConversion

      /DestinationProfileName (GRACoL2006_Coated1v2)

      /DestinationProfileSelector /DocumentCMYK

      /Downsample16BitImages true

      /FlattenerPreset <<

        /ClipComplexRegions true

        /ConvertStrokesToOutlines false

        /ConvertTextToOutlines false

        /GradientResolution 300

        /LineArtTextResolution 1200

        /PresetName ([High Resolution])

        /PresetSelector /HighResolution

        /RasterVectorBalance 1

      >>

      /FormElements false

      /GenerateStructure false

      /IncludeBookmarks false

      /IncludeHyperlinks false

      /IncludeInteractive false

      /IncludeLayers false

      /IncludeProfiles false

      /MarksOffset 6

      /MarksWeight 0.250000

      /MultimediaHandling /UseObjectSettings

      /Namespace [

        (Adobe)

        (CreativeSuite)

        (2.0)

      ]

      /PDFXOutputIntentProfileSelector /DocumentCMYK

      /PageMarksFile /RomanDefault

      /PreserveEditing true

      /UntaggedCMYKHandling /LeaveUntagged

      /UntaggedRGBHandling /UseDocumentProfile

      /UseDocumentBleed false

    >>

    <<

      /AllowImageBreaks true

      /AllowTableBreaks true

      /ExpandPage false

      /HonorBaseURL true

      /HonorRolloverEffect false

      /IgnoreHTMLPageBreaks false

      /IncludeHeaderFooter false

      /MarginOffset [

        0

        0

        0

        0

      ]

      /MetadataAuthor ()

      /MetadataKeywords ()

      /MetadataSubject ()

      /MetadataTitle ()

      /MetricPageSize [

        0

        0

      ]

      /MetricUnit /inch

      /MobileCompatible 0

      /Namespace [

        (Adobe)

        (GoLive)

        (8.0)

      ]

      /OpenZoomToHTMLFontSize false

      /PageOrientation /Portrait

      /RemoveBackground false

      /ShrinkContent true

      /TreatColorsAs /MainMonitorColors

      /UseEmbeddedProfiles false

      /UseHTMLTitleAsMetadata true

    >>

  ]

>> setdistillerparams

<<

  /HWResolution [1200 1200]

  /PageSize [612.000 792.000]

>> setpagedevice



